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Fluency Problem Solving
Complete these questions.

When T compare unit
, 1 just look at the number
5.797 - 54.89 = at the bottom of the fraction, the
denominator, and the e
which is small
6.75+10 = partner how G
there anything
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Fluency
Complete these questio

1. 8407 - 1010 =
|:|=745+265
3.144 + 9 =
4,82 x 4 =
7 - 54.89 =

Wecek 4 Day &

Problem Solving
What is the mass of a wooden building
block if a toy car weighs 26g?

Reasoning

George says, “When I compare unit
fractions, I just look at the number
at the bottom of the fraction, the
denominator, and that tells me
which is smaller.” Discuss with a
partner how George is correct. Is
there anything else he needs to say?





